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M. Se.(Hons. School)-Biophysics/BGI-31131-A

M.Sc.(Hons. School)-Biophysics/A

1 a.m.u. is equivalent to :

(A) L66x 10" kg (B) 1.66= 10" kg

(C) L.66x= 107 kg (D) 1.66=10"kg

The active site of an enzyme is formed by a few of the enzyme’s :

(A} R groupsofthe aminoacids (B) Amino groups of the amino acids
(C) Carboxyt groups of the amino acids 1) Exposed sulfur bonds
Histone protein synthesis occurs during :

(A) G phase (B) G2 phase

(C) S phase (D) Prophase

DN A/chromosome replication takes place during :

(A) Gl-phase (B) G2 phase

(C) S-phase (D) Prophase

Relationship between amino acid and pratein is similar to c-helix is stabilized by H-bonds between
the :

(A} NHand CO group of side chain (B} NHand CO proup of main chain
{C) NH and NH group of same chain () WH and C( groups of all chains
What is true of fluid mosaic model ?

(A) Phospholipid monolayer is present over protein layer

(B) Phospholipid bilaver is present over protein layer

(C) Proteinembedded in phospholipid bilayer

(13} Phospholipid laver is sandwiched between two protein layers

Ubiguinoneis :

{A) Protein co-enzyime (B) Non-protein co-enzyme

(C) Activator () Protein co-activator

Cell membrane is not permeable to

(A) CO (B) Glutanmc acid

{C) Glucose (D) Glucose-6-phosphate
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Phospholipid molecules of cell membrane possess :

(A) One polar head and one polar tail

(B} Omne nonpolar head and one nonpolar tail

(C} One polar head and two nonpolar tails

{0} Omne nenpolar head and two polar tails

Assembly of 60 S and 40 S subunits of ribosome produces ;

(A} 805 (B} 708
(C) 508 () 1005
Ion connected with lorming cross-hridgesis :

(A) Na~ (B) Ca’
{C) K (D) M

What is true of fluid mosaic model ?

(A} Phospholipid monolayer is present over protein layer

(B) Phospholipid bilayer is present over protein layer

(C) Protein embedded in phospholipid bilaver

(1Y) Phospholipid laver is sandwiched berween two protein layvers

+ Theideal gamma ray energy for nuclear medicine imaging is between :

(A) TO0-300 Mev (B) 10-50 Kev
(C) 10-50 Mev {1y 100-300 Kev
Which of the following has highest LET ?

(A) Alpha rays {B) Detarays

(C) Gamma rays (D) X-ravs

- Asingle unit membrane surrounds the organelle ;

(A) Nucleus (B} Mitochondria
{C) Lysosome () Chloroplast
Mitochondria are semi-autonomonus as they possess ;

(A) DNA {B) DNAand RNA
(C) DNA,RNA and ribosomes () Proteins
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17. Telocentrie chromosomes differ from acrocentrie chromosomes in having :
(A) Termunal centromere as compared to subterminal centromere in the latter
{(B) Terminal centromere as compared to medianly located centromere in the latter
{C) Subterminal centromere as compared to medianly located centromere in the latter
([Y) Subterminal centromere as compared to submedian located centromere in the Iattar

18. Loops of lampbrush chromosome possess :

(A) DNARNA and proteins (B) DNAand RNA
(C) DNAand proteins D) DNA
19. Which class of immunoglobulins can cross placenta ?
(A) IeG (B) IgD
(©) IeM D) IgA
20. Which of the following is the sensitive indicator of proteins 7
{(A) Circulardichorism (B) Gel chromatography -
(C) Gelelectrophoresis (D) Affinity chromatography
21. Which of the following is the molecular seissors in genetic engineering ?
(A} Exomucleases (B) Primase
(C) Endonucleases (1) DNA ligase
22. ATFPmolecules combine with carrier molecules and allow passage of substances :
(A) Along concentration gradient (B) Aguinst concentration gradient
(C) Inboththe dircctions (D) ATPisnot required
23, Organelle rich in manganese is :
(A) Ribasome (B) Mitochondria
(€] Chloroplast (D) Lysosome
24. Method of Fourier transformation is not applied to :
{A) NMR (B) Xraycrystallography
(C) CTimaging (D) Gamma ray spectroscopy
25. Cause of glomerular filtration is :
{A) Dialysis (B) Osmuosis
{C) High pressure (1) Albumin
M.Se.{Hons, Schoal}Biophysies/ BGI-31131-A :' [ Turn over




26. A molecule of hemoglobin carries how many oxygen molecules ?

(A) 1 ® 2
{C) 3 (D) 4
27. Which spectroseopy is used to detect -SH group and disulphide linkages in proteins ?
(A) CD spectroscopy (B) Flugrescence spectroscopy
{C) NMR spectroscopy (D) FTIR spectroscopy
28, The protein component of Rhodopsin molecule is :
{A) 1l-cisrotinal (B) 11-trans retinal
(C) Retinenc (D) Seotopsin

29, In gene therapy, DNAis inserted into a cell to compensate for :
{A) The absence of plasmids (B} Muzant alleles
(C) Holesinthe DNA made by viruses (D) They lack copy of DNA

M), The smallest neuromodulator substances :

(A) Nitricoxide (B) Acewvlcholine
(C) Analine (D) Calmoduline
31, Which of the following is not scereted directly into the blood stream 7
{A) Steroid hormone (B) Neurotransmilter
(C} Peptide hormone (D) Newrohormone
3. Todetermine the molecular weight of unknown protein, the most appropriate technigue would be :
{A) 'H NMR spectroscopy (B) “CNMR spectroscopy
{C) Mass speciroscopy (D) IR spectroscopy

33, X-rays differ from gamma rays on the basis of :

(A) Charge (B) Mass
{C) Wavelength (D) Crigin
34. Which of the following has least frequency 7
(A) Infrared rays (B) Gamma rays
(C) Microwaves ([ Ultraviolet ravs

M.Se.{Hons. School)-Riophysics BGI-31131-A
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35. One gray is equal to :
(A) 1rad (B) 100 rad
(C) 100 roentgen (D) 10 rads
36. Membrane fluidity is controlled by :
(A) Fatty acid composition
(B) Farty acid composition and cholesteral content
(C) Cholesterol content
() Glyeerol composition
37. Na'K ATPase pump drives :
(A) Naouland K into the cell {B) BothNaand K out of the cell
{C) Mainand K out ofthe cell (D}) Both Na and K into the cell
38. A Ramachandran plot:
(A) Represents the sterically allowed conformations of a polypeptide backbone
(B) Gives the frequency of occurrence of amino acids
(C) Predicis the o helical stricture from amine acid sequence
(1) Shows the X ray diffraction pattem from amino acid sequence

389, The sticky ends of the fragmented DNA molecule are made up of :

(A) Caleium salts {B) Endonucleases
(C) Unpaired base (D) Methyl groups
40. Bremsstahlung radiation are called :
(A) X-rayswith fixed energy (B) Gamma rays with fixed energy
(C) X-rays with variahle energy (1) Gamma rays with variable energy

41. Stages in proper sequence of Prophase [ are @
{A) Zygotene, leptotene, pechytene, diakineses and diplotene
(B) Lepiotene, zypotene, pachytene, diplotene, diakinesis
(C}) Leptotene, pachytene, zygotene, diakinesis, diplotene

(1) Diplotene, diakinesis, pachytene, Zvgotene and laplotens
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Go state of cell denotes @
{A) Exitofcell from cell cyvele (B) Check point before entering next phase
{C) Deathofceil (D) Temporary pause

A unit of radiation exposure ‘roentgen’ expresses the :

(A) lonization of'air (B} Interaction of charged particles
(C) Radioactivity (D) Binding energy

Which one is the most radiosensitive cell out of the following ?

(A) Lymphocyies (B) Monocytes

(C)} Weutrophils (D) Basophils

Protein whose concentration increases in aging is :

(A} Keratin (B) Myosin

(C)} Collagen (D) Celutelin

Relationship between amino acid and protein is similar to one found between :
(A} Glucoseand fructose © B Wucleotides and micleic acids
{C) Nucleosides and nucleic acid {13} Purines and pyrimidines

The vitamin nicotinamide can be synthesized in our body from @

{A) Tyrosine {BY Tryptophan

(C) Valne {D) Phenylalanine
Which of the following cells are implicated in immunity against cancers 7
(A) Mamral killer cells (B) Weutrophils

(C) Helpereslls (D1 T lhymphocytes

In bacteria the respiratory enzymes are located on :
(A} Plasmid (B) FEpisome

(C} Mesosome (D7 Nucleoid

50. Anamino acid metabolized by brain only is :

M.Se.(Hims, Sehool)- Riophysles/ BGL-31131-A

(A) Alnine (B} Ghatarmic acid
(C) Methionine (1) Phenylalanine
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» Which of the following amino acids is unable to form a proper peptide bond ?

(A) Glutamine (B)  Asparagines
(C) Glyeine (D} Proline
Which of the following amino acids is not utilized by brain ?
(A) Vline (B) Glyeine
(C) Methiorine (D) Phenylalanine
How many types of proteins ¢an be formed from 100 amino acids
(A) 201 (B) 1002
(C) l0Q (D)} 2000
Beta cells of islets of langerhans produce which of the followi mg 7
{A) Glucagon (B) Somatostatin
(C) Tnsulin (D) Trypsinogen
- The motor protein kinesin moves vesicles along microtubules towards :
{A) The Minusend (B) The Plusend
(C) Eitherend (D} Centrosome
In the receptor mediated endocytosis the membrane vesicles are initially enclosed in :
(A} Calmodulin (B) Clathrin
(C) Syndesmin (D) Dystrophin
Connexons are characteristic feature of :
(A) Trans golgi network (B) Therough endoplasmic reticulum
(C) Thesmoothendoplasmicreiculn (D) Gapjunction

Which of the following is true ?

(A) Bel-2 is pro-apoptotic and Bax is anti-apoptotic

(B) Bcl-2 is anti-apoptotic and Bax is pro-apoptotic

(C) Bel-2 iz pro-spoptotic and Bax is also pro-apoptotic

(D) Bel-2isanti-apoptotic and Bax is also anti-apoptotic

The most common antigen presenting cell are referred to as ;

{A) Macrophages (B) Helper T cells
(C) Reticulocytes (D) Mastcells
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60. Which of the following bonds is weakest 7
(A} Covalent Bond (B) lonic Bond
{C) Hydrogen Bond (D} Van der Waal Bond
61. Number of genes present in human genome is:
(A) 15,000 (B) 22,000
(Cy 27.000 (D) 30,000
62. Themain buffer in cells are :
(A) CH,COONH, (B) Nal,P0,and Na HPO,
(C) H,CO.and NaHCO, (D) Waand K
63. Which of the following can be detected in & magnetic field ?
(A) Gammarays : (13) Betarays
(C) Radiowaves (D) Ulra-vielet rays
64. 1 pciis equal to:
(A) 37MBg (B) 3.7Miiq
(Cy 0.037 MByg M 0.37MBg
#5. The radionucleotide ™™ 7T exists in how many pxidation states 7
(A) 3 By 4
ey 7 o) 3
6. Which of the sequences of atoms can be found in backbones of polypeptides ?
(A) C-N-N-C (B C-C-C-N
{C) C-C-N-C (D) N-C-C-C
67. Twaveof ECG represents :
(A) Depolarization of atria (B) Repolarization of atria
(C) Depolarizationof ventricles (D) Repolarisation of veniricles
68. The connected series of fluid-filled cavities that are found throughout the brain arc known as th
{A) Subarachnoid spaces (B) Ventricles
{C) Vesicles (D) Retemirabile
M.Se.(Hons, School-Biophyvsics BGE-31131-A E.I.J
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A second messenger is :

(A) A neuromodulator that is released along with a neurotransmitter

(B} A neurotransmitter that binds with more than one type of receptor

(C} A chemical that enhances the effects of neurotransmitier at the receptor

(D) A chemical in the postsynaptic cell that is activated following receptor stimulation via a G protein
The funetion of inner ear is :

(4) Tocollect and channel sound vibrations

{B) To genermte nerve imipulse (action potential) for hearing and equil ibrium

(C) Drainexcess Muid from middle ear to throat

(D) Transmit sound vibrations from eardnim to malleus, incus and stapes

71. Rotational movement of head is sensed by :
(A) Semicircularcanals (B) Vestibuli
(C) Eardmm () Middle ear
72. Which of these is not a tumour suppressor gene ?
(A) Eb (B) ras
{C) BRCAI (D) APC
73. The light sources used in fibre optic communication are :
(A) LEDs (B) -semiconductor lasers
(C) phototransistors (D) both{A)and (B)
74. The percentage of ultrasound reflected at an airdiguid interface is :
(A) 100% (B) High
(C) Low (1) MNone
75, The bonding thatis involved in the formation of protein secondary, tertiary, and quaternary structur
as well as protein folding and protein-protein interactions is:
(A) Hydrogen bonding (B) Disulfide bonding
(C) Electrostatic interactions (0 Hydrophobic interactions
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